|_that the formulas proposed in the article are correct in this case.
> restart:
with (LinearAlgebra) :
tinftyl0:=0;
Pinftyll:=-(2*tinftyl4)/2;
Pinfty0l:=-(2*tinftyl2)/2;

(1/4) *tinftyl3+2;
Pl:=x-> PinftyO0l+Pinftyll*x;

Unknownn:=-Unknown:
LUnknownn:=-LUnknown:
Unknownn?2 :=Unknown2:
LUnknownn2 :=LUnknown2 :

Ltinfty25:=-Ltinftyl5;
Ltinfty23:=-Ltinftyl3;
Ltinfty2l:=-Ltinftyll;
Ltinfty20:=-Ltinftyl0;
Ltinfty24:=Ltinftyl4;
Ltinfty22:=Ltinftyl2;
Ltinftyl0:=0:

tinftyl0 == 0
Pinftyl ] == - tinftyl4
Pinfty01 = - tinftyl2

. 2
Pinfiy32 = - W1 o 13

[ In this Maple file, we conmpute the Lax pair in the oper gauge in the Painlevé 1 case. We also check

Pinfty32 := -(1/4)*tinftyl5+2;
Pinfty22 := -(1/2)*tinftyl5*tinftyl3+(1/4)*tinftyl4+2;
Pinftyl2 := -(1/2)*tinftyl5*tinftyll+(1/2)*tinftyld*tinftyl2-

P2:=x-> Pinfty02+Pinftyl2*x+Pinfty22*x*2+Pinfty32*x"3;

. ) ‘ 5
Pinfty22 = - tinftyl5 tinftyl3 i tinfty14

2

Pinftyl2 = - tinftyl5 tinftyl 1 n tinftyl4 tinftyl2 tinftyl3*

2 2

Ltinfty25 = - Ltinftyl5
Ltinfty23 = - Ltinftyl3
Ltinfty21 = - Ltinftyl 1
Ltinfty20 = - Ltinftyl0
Ltinfty24 = Ltinftyl14

Pl := x — Pinfty0l + Pinftyll x
P2 := x — Pinfty02 + Pinftyl2 x + Pinfty22 X+ Pinfty32 X

(1)



| Ltinfty22 := Ltinftyl2 (D
| Study at infinity

> espilon:=1:

logPsilInfty:=-1/5*tinftyl5/h*lambda” (5/2)-1/4*tinftyl4/h*
lambda*2-1/3*tinftyl3/h*lambda” (3/2)-1/2*tinftyl2/h*lambda*1-
tinftyll/h*lambda” (1/2)+1/4*epsilon*1n (lambda)+A10+
Unknown/lambda” (1/2)+ Unknown2/lambda;
logPsi2Infty:=1/5*tinftyl5/h*lambda* (5/2)-1/4*tinftyl4/h¥*
lambda*2+1/3*tinftyl3/h*lambda* (3/2)-1/2*tinftyl2/h*lambda*1+
tinftyll/h*lambda” (1/2)+1/4*epsilon*1ln(lambda)+A20-
Unknown/lambda” (1/2)+ Unknown2/lambda;

GrosLlogpsilInfty:=-1/5*Ltinftyl5/h*lambda* (5/2)-1/4*Ltinftyl4/h*
lambda*2-1/3*Ltinftyl3/h*lambda” (3/2)-1/2*Ltinftyl2/h*lambda*1-
Ltinftyll/h*lambda” (1/2)+LA10+ LUnknown/lambda” (1/2)+
LUnknown2/lambda ;

GrosLlogpsi2Infty:=1/5*Ltinftyl5/h*lambda* (5/2)-1/4*Ltinftyl4/h*
lambda*2+1/3*Ltinftyl3/h*lambda” (3/2)-1/2*Ltinftyl2/h*lambda*1+
Ltinftyll/h*lambda” (1/2)+LA20- LUnknown/lambda* (1/2)+
LUnknown2/lambda;

GrosLpsilInfty := exp(-1/5*tinftyl5/h*lambda* (5/2)-1/4*
tinftyl4d/h*lambda*2-1/3*tinftyl3/h*lambda” (3/2)-1/2*tinftyl2/h*
lambda*l-tinftyll/h*lambda” (1/2)+1/4*epsilon*1ln(lambda)+Al10+
Unknown/lambda” (1/2)+ Unknown2/lambda) * (-1/5*Ltinftyl5/h*lambda*
(5/2)-1/4*Ltinftyl4/h*lambda*~2-1/3*Ltinftyl3/h*lambda” (3/2)-1/2*
Ltinftyl2/h*lambda*l-Ltinftyll/h*lambda” (1/2)+LA10+
LUnknown/lambda” (1/2)+ LUnknown2/lambda) ;

GrosLpsi2Infty := exp(l/5*tinftyl5/h*lambda” (5/2)-1/4*tinftyl4d/h*
lambda*2+1/3*tinftyl3/h*lambda* (3/2)-1/2*tinftyl2/h*lambda*1+
tinftyll/h*lambda” (1/2)+1/4*epsilon*1n (lambda)+A20-
Unknown/lambda” (1/2)+ Unknown2/lambda)* (1/5*Ltinftyl5/h*lambda*
(5/2)-1/4*Ltinftyl4/h*lambda”~2+1/3*Ltinftyl3/h*lambda” (3/2)-1/2*
Ltinftyl2/h*lambda”l+Ltinftyll/h*lambda” (1/2)+LA20-
LUnknown/lambda” (1/2)+ LUnknown2/lambda) ;
psilInfty:=exp(logPsilInfty) ;

psi2Infty:=exp (logPsi2Infty) ;

dpsildlambdaInfty:=diff (psilInfty,lambda) :
dpsi2dlambdaInfty:=diff (psi2Infty,lambda) :
d2psildlambda2Infty:=diff (psilInfty,lambda$2) :
d2psi2dlambda2Infty:=diff (psi2Infty,lambda$2) :



WronskianLambdaInfty:=h*factor (psilInfty*dpsi2dlambdaInfty-
psi2Infty*dpsildlambdaInfty) :
WronskianLambdabisInfty:=h*simplify (factor( (diff(logPsi2Infty,
lambda) -diff (logPsilInfty,lambda)) *exp (logPsilInfty+logPsi2Infty)
)):

WronskianTildeLambdaInfty:=h*3*factor (dpsi2dlambdaInfty*
d2psildlambda2Infty-dpsildlambdaInfty*d2psi2dlambda2Infty) :

logPsilInfiy = - tinfty]57u5]2 B tinfty]47»2 B tinfty].??»”z _ tinfiyl2 )\ tinfiyll | A
oststHiny = 5h 4H 3 h 2 h h
1
+ﬂ L AIO+ Unknown n Unknown2

4 Ir A

logPsiziniy tinfiyl 52> 2  tinfiyl42] .\ tinfiy132° 2 _ dinfiyi2) tinfiyl 1 %
OgTSIINY = Ty 4h 3h 2 h h
1
L€ n(A) 4 A20 — Unknown n Unknown?2
Jr A
. 5[2 , 2 , 32 ,
GrosLi lLf.__LmWWSK _ Lrinftyl4 X Ltinftyl3 & _ Ltinftyl2 )
rostiogpstiinfly = 5h 4h 3h 2h
B Ltznﬁyllﬁ L IAIO + LUnknown n LUnknown2
h Jr M
GrosLiogpsiziniy L5 212  Linfiyl4 ) | Liinfiy13 212 _ Linfiyl2 L
rosLlogpsiZIly = T, 4h 3h 2 h
n Ltinftyl 1 ﬁ 4 LA20 — LUnknown n LUnknown2
h Jr A
GrosLpsilInfty :=
tinfiy 1S 2 tinfiyraa2 tinfiy1323 [2 _tinfiyI2h  dinfiyl 1K L el oo
B 5h Y 3h 2h h 4
e
n Unknown Unknown2 5 I 5 » 3 I »
N A _ Ltinftyl5 A _ Ltinftyl4 X Ltinftyl3 N
5h 4 h 3h
LtinftyI2 A Ltinfiyl1 | & LUnknown . LUnknown?
- p +LAIO + I +
A
GrosLpsi2Infty ==
tinfry1525 | 2 tinfy1432 | tinfiy13% [2 _dinfiyI2h | dinfiyl 1K L€l o Unknown

S5h 4h 3h 2h h 4 \/T



Unknown?2

> L21Infty:=simplify

L21InftyOrdrelambda5:
infinity));
L21InftyOrdrelambda4
infinity));
L21InftyOrdrelambda3:
infinity)) ;
L21InftyOrdrelambda2
infinity));
L21InftyOrdrelambdal:
infinity));
L21InftyOrdrelambdaO:
infinity)) ;
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(WronskianTildeLambdaInfty/WronskianLambdabisInfty) :

=factor (-residue (L21Infty/lambda*6, lambda=

:=factor (-residue (L21Infty/lambda”5, lambda=

=factor (-residue (L21Infty/lambda*4, lambda=

:=factor (-residue (L21Infty/lambda”3, lambda=

=factor (-residue (L21Infty/lambda*2,lambda=

=factor (-residue (L21Infty/lambda*1l, lambda=

L21InftyOrdrelambda5 == 0
L21InftyOrdrelambda4 == 0

. 2
L21InftyOrdrelambda3 := tinfiyl5”

4
, _ ‘ 5
L21InfityOrdrelambda?2 := tmfty]52tmfzy]3 _ tmﬁi’]4
, _ ‘ ‘ ‘ i
L21InftyOrdrelambdal = nnﬁy]i;u#bd] _ nnﬁyli;nﬁbdz n nnézj3

L21InftyOrdrelambda0 := % Unknown h tinftyl5 + % € h tinftyl4 + % h tinftyl4

2
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+ % tinftyl 1 tinftyl3 — % tinfty12*

> factor(simplify (L21InftyOrdrelambda4d*
lambda”4+L21InftyOrdrelambda3*lambda*3+L21InftyOrdrelambda2*
lambda*2+L21InftyOrdrelambdal*lambda- (-P2(lambda)+Pinfty02)));
_ 0 )
;We conclude that L {2,1}is of the form -P2(lambda)+O(1) at infinity. Let us now study L {2,2}
> L22Infty:=factor (h*simplify (diff (WronskianLambdabisInfty, lambda)
/WronskianLambdabisInfty)) :
L22InftyOrdrelambda5:=factor (-residue (L22Infty/lambda”6,lambda=
infinity)) ;
L22InftyOrdrelambdad:=factor (-residue (L22Infty/lambda”5, lambda=
infinity));
L22InftyOrdrelambda3:=factor (-residue (L22Infty/lambda”*4,lambda=
infinity)) ;
L22InftyOrdrelambda2:=factor (-residue (L22Infty/lambda”3,lambda=
infinity)) ;
L22InftyOrdrelambdal :=factor (-residue (L22Infty/lambda”*2,lambda=
infinity));
L22InftyOrdrelambda0:=factor (-residue (L22Infty/lambda”1l, lambda=
infinity)) ;
L22InftyOrdrelambdaMoinsl:=factor (-residue (L22Infty/lambda*0,
lambda=infinity)) ;
L22InftyOrdrelambdaMoins2:=factor (-residue (L22Infty/lambda* (-1),
lambda=infinity)) ;
L22InftyOrdrelambda5 == 0
L22InftyOrdrelambda4 = 0
L22InftyOrdrelambda3 == 0
L22InftyOrdrelambda?2 == 0

L22InftyOrdrelambdal = - tinfty 14
L22InftyOrdrelambda0 = - tinftyl2

L22InftyOrdrelambdaMoins 1 = (€+T3)h

h (2 tinftyl5 Unknown2 + tinftyl3)

= tinftyl5
We conclude that L {2,2} behaves at infinity like -tinfty14*lambda -tinfty12+2*h/lambda +O
| (1/lambda”2) =P1(lambda) +2*h/lambda+O(1/lambda”2)

We end with the explicit formulas for L_{2,2} and L._{2,1}:
L _{2,2}= P_1(lambda) +2*h/(lambda-q) and L_{2,1}=-P_2(lambda)+Pinfty02+C -p*
| h/(lambda-q)
> L21Form:=-P2 (lambda)+Pinfty02- p*h/(lambda-q) ;
L22Form:=P1l (lambda) +2*h/(lambda-q) ;

L22InftyOrdrelambdaMoins2 = -

C))
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| Conputation for the auxiliary matrix A in the oper gauge
[ The deformation operator is \mathcal{L}=\hbar (alphalS\partial {t {\infty”{(1)},5} +alphal4\partial
{t {\infty™{(1)},4}+e*\partial {t {\infty"{(1)},3} +f*\partial {t {\infty"{(1)},2}+g*\partial {t
L {\infty”{(1)},1})
> WronskianGrosLInfty:=factor (psilInfty*GrosLpsi2Infty-psi2Infty*
GrosLpsilInfty):
Al2Infty:=factor (simplify
(WronskianGrosLInfty/WronskianLambdaInfty)) :
YlInfty:=h*factor (dpsildlambdaInfty/psilInfty) :
Y2Infty:=h*factor (dpsi2dlambdaInfty/psi2Infty) :
ZlInfty:=factor (GrosLpsilInfty/psilInfty):
Z2Infty:=factor (GrosLpsi2Infty/psi2Infty) :
Al2bisInfty:=factor (simplify((Z22Infty-Z1Infty)/(¥Y2Infty-Y1Infty))
) :
AllInfty:=factor(simplify( (Y2Infty*ZlInfty-Y1lInfty*Z2Infty)/
(Y2Infty-Y1lInfty) )):
> factor(simplify (Al2bisInfty-Al2Infty))
L 0 7
> Ltinftyl5:=h*alphal5:
Ltinftyl4:=h*alphal4:
Ltinftyl3:=h*alphal3:
Ltinftyl2:=h*alphal2:
Ltinftyll:=h*alphall:
Ltinftyl0:=0:
Ltinfty20:=0:
LA20:=LA10:

> Al2InftyLambda3:=factor (-residue (Al2Infty/lambda”4,lambda=
infinity)) ;
Al2InftylLambda2:=factor (-residue (A1l2Infty/lambda*3, lambda=
infinity));
Al2InftyLambdal:=factor (-residue (Al2Infty/lambda*2,lambda=
infinity));
Al2InftylLambda0:=factor (-residue (A1l2Infty/lambda*1l, lambda=
infinity)) ;




Al2InftyLambdaMoinsl:=factor (-residue (A1l2Infty/lambda”0,lambda=
infinity)) ;

Al2InftylLambdaMoins2:=factor (-residue (Al2Infty/lambda”* (-1),
lambda=infinity)) ;

AI2InftyLambda3 = 0
Al12InftyLambda?2 = 0

2015
nftyLambda E
2 13 tinftvlS — 3 ol tinfrvl 3
A12InftyLambda( = (5 al 3 tinfty 3 25 tinfty )
15 tinftyl5

A12InftyLambdaMoins] :=
2 (15 a1 tinftyl5* — 5 o3 tinfiyl3 tinftyl5 — 3 a5 tinftyl1 tinftyl5 + 3 a5 tinfty13°)
15 tinftyl5°
(2 (3 @15 Unknown h tinfty15* 8)

1
15 tinftyl5*
+15 a1 tinfiyl3 tinftyl5* + 5 ol 3 tinftyl ] tinftyl5* — 5 o 3 tinftyl 3 tinftyl5

| —6 adStinfiyl ] tinfiyl3 tinftyl5 + 3 od5 tinftyl3 + 15 LUnknown tinfty15°) )
We get that A_{1,2}=2*alphal5/5/tinfty15*lambda-+nu +mu/(lambda-q)
2 (3 atinftyl3 — 5 alphal3 tinftyl5)

A12InftyLambdaMoins2 = -

with nu=-

> and
15 tinftyl5
2 (3 atinftyl I tinftyl5 — 3 o tinftyl F+5 alphal3 tinftyl3 tinftyl5 — 15 alphal I tinftyl 52)
mu= - 3
_ 15 tinftyl5

> Al2Form:=2*alphal5/5/tinftyl5*lambda+nu+ mu/ (lambda-q) ;
simplify (-residue (Al2Form/lambda*2,lambda=infinity) -
Al2InftyLambdal) ;

solve ({factor (-residue (A12Form/lambda, lambda=infinity) )=

Al2InftyLambda0, factor (-residue (A1l2Form,lambda=infinity) ) =factor
(Al2InftyLambdaMoinsl) }, {mu,nu}) ;

Al2Form = 2OOA W
5 tinftyl5 A—g

0

®
B 1
15 tinftyl5°
2 (5 al3 tinftyl5 — 3 ol 5 tinftyl 3
3 a5 tinfiyl ) ). v = 2 injty - infiyl3)
| 15 tinftyl5
> mu := -(2*(3*alphal5*tinftyll*tinftyl5-3*alphal5*tinftyl342+5%*
alphal3*tinftyl3*tinftyl5-15*alphall*tinfty15+2))/(15*tinfty15+3)

(2 (15 a1 tinftyl5* — 5 a3 tinftyl3 tinftyl5 — 3 o5 tinftyl1 tinftyl5




mubis := -2*(1/5*alphal5*tinftyll/tinftyl5-1/5*alphal5*
tinftyl342/tinftyl5%2 +1/3*alphal3*tinftyl3/tinftyl5-alphall)
/tinftyl5;
factor (simplify (mu-mubis)) ;
nu := -(2*(3*alphal5*tinftyl3-5*alphal3*tinftyl5))/(15%*
tinftyl542) ;
M=
IR S
15 tinftyl5’
—3 a5 tinfty13*))

(2 (-15 o1 tinftyl5* + 5 o3 tinftyl3 tinftyl5 + 3 a5 tinfyl ] tinftyl5

alS tinftyl ] odS tinftyl3 | od3 tinfiyl3

11
5 tinfiy15 S tinfiyl5” 3tinfiyls O
mubis = - 5
tinftyl5
0
2 (-5 ad3 tinftyl5 15 tinftyl3
N (-5 od3 tinfty +32a tinftyl3) 10)
15 tinftyl5

;These are theoretical results to compute the nu 1i's, i.e. the behavior of A {1,2} at lambda->\infty

> Minfty:=Matrix(3,3,0):
Minfty[1l,1] :=tinftyl5:
Minfty[2,2] :=tinftyl5:
Minfty[3,3] :=tinftyl5:
Minfty[2,1] :=tinftyl3:
Minfty[3,2] :=tinftyl3:
Minfty[3,1] :=tinftyll:
Minfty;
NuVector:=Matrix(3,1,0):
NuVector[1l,1] :=nuMoinsl:
NuVector([2,1] :=nul:
NuVector([3,1] :=nul:
NuVector;
RHSVector:=Matrix(3,1,0):
RHSVector[1l,1] :=2*alphal515/5:
RHSVector[2,1] :=2*alphal513/3:
RHSVector[3,1] :=2*alphal511/1:
RHSVector;
NuVectorSol:=Multiply (Minfty” (-1) ,RHSVector) ;
alphal515:=alphal5:
alphal5l4:=alphal4:
alphal5l13:=alphal3:
alphal5l2:=alphal2:
alphal5ll:=alphall:




mul :=mu:

NuVector[1l,1]=NuVectorSol[1l,1];
NuVector[2,1]=NuVectorSol[2,1];
NuVector[3,1]=NuVectorSol[3,1];

nuMoinsl := NuVectorSol[l,1];
nu0 := NuVectorSol[2,1];
nul :=NuVectorSol[3,1];

tinftyl5 0 0
tinftyl3 tinftyl5 0
tinftyll tinftyl3 tinftyl5
| nuMoinsl |
124

vl

[ 2 1515 |
5

2al513
3

201511

NuVectorSol =
» 2 al515
5 tinftyl5
2 tinftyl3 1515 2 ad513
C Stinfiyl 5 3 tinftyl5

2 (tinftylStinftyll — tinftyl3) od515 2 tinftyl3 01513 L 2asl
5 tinftyl5° 3 tinftyl5* tinftyl5
2 0l5
5 tinftyl5
_ 2tinftyl3 ol 2 al3

S tinftyl5” 3 tinftyl5
2 (tinftyl5 tinfiyl1 — tinftyl3) od5 2 tinfiyl3 od3 2 all

nuMoinsl =

vl =

S tinftyl5° 3 tinftyl5* tinftyl5

2015

Moins] = ——22
nuioms 5 tinftyl5



_ 2tinfiyl3 a5 2 al3
S tinftyl5* 3 tinftyl5
e 2 (rinfty15 tinftyl 1 — tinfyl3") ed5 2 tinftyl3 od3 L 2al an
i S tinftyl5° 3 tinftyl5* tinftyl5
| We now check that the formula for the nu_{i}'s is correct.

W =

> simplify(-residue (Al2Form/lambda*2,lambda=infinity)-nuMoinsl) ;
simplify (-residue (A12Form/lambda, lambda=infinity) -nu0) ;
simplify (-residue (Al2Form*lambda”0,lambda=infinity) -nul) ;
0
0
0 (12)
> NuMuVector:=Matrix(3,1,0):
NuMuVector[1l,1] :=nuMoinsl:
NuMuVector[2,1] :=nul:
NuMuVector[3,1] :=mul:
R:=Matrix(3,3,0):

R[1,1]:=1:
R[2,2]:=1:
R[3,3]:=1:

NuMuVectorTheo:=Multiply (Multiply (R” (-1) ,Minfty” (-1)) ,RHSVector) ;

simplify (NuMuVector-NuMuVectorTheo) ;
NuMuVectorTheo =

2al5
5 tinftyl5
_ 2tinfiyl3 od5 2 al3
S tinftyl5* 3 tinftyl5

_ 2 (tinftyl5 tinftyl] — tinftyl3*) od5 _ 2tinfiyl3 od3 2all
S tinftyl5° 3 tinftyl5* tinftyl5
0
0 (13)
0
;We have checked that Proposition dealing with A_{1,2} is correct.
> AllInftyLambda4:=factor (-residue (AllInfty/lambda”5, lambda=
infinity)) ;
AllInftyLambda3:=factor (-residue (AllInfty/lambda*4,lambda=
infinity));
AllInftylLambda2:=factor (-residue (AllInfty/lambda“3,lambda=
infinity)) ;
AllInftylLambdal:=factor (-residue (AllInfty/lambda*2, lambda=
infinity)) ;




AllInftyLambda0O:=factor (-residue (AllInfty/lambda“l,lambda=
infinity)) ;
AllInftylLambdaMoinsl:=factor (-residue (AllInfty/lambda”0,lambda=
infinity)):

AlllnftyLambda4 = 0
AlllnftyLambda3 = 0

14 tinftyl5 — 4 a5 tinfryl4
A]]]}’leyLambdQZ = S o lll’lfly al tlnfty

20 tinftyl5
AlllnftyLambdal =

- ;2 ( 15 a2 tinfzyIS2 — 10 a3 tinfty 14 tinftyl5 — 6 al5 tinftyl2 tinftyl5
30 tinftyl5

+ 6 a5 tinftyl 3 tinftyl4)

AllInftyLambda( = ————L———g
30 tinftyl5

+30 a1 tinftyl4 tinftyl5* + 10 o3 tinfty12 tinftyl5* — 10 a3 tinftyl3 tinfty14 tinftyl5
— 6 a5 tinftyl ] tinftyl4 tinftyl5 — 6 o5 tinftyl?2 tinftyl3 tinftyl5
+6 a5 tinftyl 3 tinftyl4)

[ We conclude that A _{1,1}=4*alphal 5*tinfty14-5*alphal4*tinfty15)/(20*tinfty15)*lambda"2+c1*
| lambda+c0+ rho/(lambda-q)

> AllForm:=(4*alphal5*tinftyl4-5*alphald*tinftyl5)/(20*tinftyl5)*
lambda*2+cl*lambda+c0+ rho/ (lambda-q) ;

(-3 al5 € h tinftyl 5> + 30 LAIO tinftyl5° (14)

simplify (-residue (AllForm/lambda*4,lambda=infinity) -
AllInftyLambda3) ;

solve ({factor (-residue (AllForm/lambda”3,lambda=infinity))=
AllInftylLambda2, factor (-residue (AllForm/lambda”2,lambda=infinity)
)=AllInftyLambdal}, {cl});

(-5 cdd tinfiyl5 +4 od5 tinfiyl4) X
20 tinfiyl5
0

felh+co+ P

A—gq

AllForm :=

cl = 4
I S
30 tinftyl5”

+ 6 al5 tinftyl 3 tinftyl4) }

(15 al2 tinfzyIS2 — 10 a3 tinfty 14 tinftyl5 — 6 al5 tinftyl2 tinftyl5

> cl := (6*alphal5*tinftyl2*tinftyl5-6*alphal5*tinftyl3*
tinftyl4+10*alphal3*tinftyl4*tinftyl5-15*alphal2*tinftyl15+2)/(30%*
tinftyl542) ;

cl == (16)

;2 ( -15 al2 tinfzyIS2 + 10 a3 tinfty 14 tinftyl5 + 6 al5 tinftyl2 tinftyl5
30 tinftyl5




| —6 a5 tinftyl3 tinfryl4)
> c2:=(4*alphal5*tinftyl4-5*alphal4*tinftyl5)/(20*tinftyl5) ;
-5 al4 tinftyl5 + 4 ol 5 tinftyl4

20 tinftyl5

c2 =

cltheo:=1/tinftyl5* (-tinftyl3*c2theo + alphal515/5*tinftyl2-

simplify (c2-c2theo) ;
simplify (cl-cltheo) ;
ol 5 tinftyl4 B al4 tinftyl5

5 4
2theo =
cotneo tinftyl5
. als tinftyl4 — ol4 tinftyl5
cltheo := 1 _HWUB( 5 4 )+_awﬁmwu
" tinfiyls tinfiyl5 5

_ oddiinfiyl3 | ad3tinfiyld _ od2 tinfiyl5

4 3 2
0
0

:We have checked that the formula for A_{1,1} is also correct.

> c2theo:=1/tinftyl5* (alphal515/5*tinftyl4-alphal514/4*tinftyl5) ;

alphal5l14/4*tinftyl3+alphal513/3*tinftyl4-alphal512/2*tinftyl5) ;

7)

(18)



